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1. With reference to borrowing powers of government, consider the following
statements:

The Central government can borrow either within India or outside upon the security of1.
the Consolidated Fund of India.
A state government can borrow within India or outside upon the security of the2.
Consolidated Fund of the State.

Which of the statements given above is/are correct?

 1 only
 2 only
 Both 1 and 2
 Neither 1 nor 2

2. The availability of plant nutrients is greatly affected by soil pH. In this respect,
soil acidification can cause a deficiency of:

Phosphorous1.
Manganese2.
Cadmium3.
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Select the correct answer using the codes given below.

 1 only
 1 and 2 only
 1 and 3 only
 1, 2 and 3

3. With reference to post-Gupta period, consider the following statements:

The post-Gupta agrarian structure is marked by growing feudal set up.1.
It saw the emergence of landed intermediaries and subjected peasantry.2.

Which of the statements given above is/are correct?

 1 only
 2 only
 Both 1 and 2
 Neither 1 nor 2

4. The LASER light is monochromatic. This means it:

 Contains one specific wavelength of light
 All the photons have wave fronts that launch in unison
 Has a very tight beam.
 All of the above

5. Consider the following statements about President’s rule:

The presidential proclamation imposing President’s rule is not subject to judicial review.1.
The courts cannot go into the correctness of the material on the basis of which2.
president’s rule was declared.

Which of the statements given above is/are correct?

 1 only
 2 only
 Both 1 and 2
 Neither 1 nor 2
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